

Fuzzy Rings and Anti Fuzzy Rings With Operators

M.Z.ALAM¹ & AMIT KUMAR ARYA²

1. COLLEGE OF COMMERCE, ARTS & SCIENCE, PATNA (BIHAR) INDIA.

2. Research Scholar, Dept. of Mathematics, M. U. Bodh Gaya (BIHAR) INDIA

Abstract: In this paper, we studied the theory of fuzzy rings, the concept of fuzzy ring with operators, fuzzy ideal and anti-fuzzy ideal with operators, fuzzy homomorphism with operators etc., and their some elementary properties.

Keywords: Fuzzy rings, fuzzy ring with operators, fuzzy ideal with operators, anti-fuzzy ideal, and homomorphism.

Date of Submission: 18-03-2021

Date of Acceptance: 01-04-2021

I. Introduction:

In 1982 W.J.Liu [1] introduced the concept of fuzzy ring. In 1985 Y.C.Ren [2] established the notion of fuzzy ideal and quotient ring. In this paper we studied the theory of fuzzy ring, and the concept of fuzzy ring with operators, fuzzy ideal and anti-fuzzy ideal with operators, homomorphism and their related elementary properties have discussed.

II. Preliminaries

Definition 2.1:[Liu [1]] Let R be a ring, a fuzzy set A of R is called a fuzzy ring of R if

(i) $A(x - y) \geq \min (A(x), A(y))$, for all x, y in R

(ii) $A(x y) \geq \min (A(x), A(y))$, for all x, y in R

Definition 2.2: [Liu [1]] Let R be a ring, a fuzzy ring A of R is called a ring with operator

(read as M – fuzzy ring) iff for any $t \in [0,1]$, A_t is a ring with operator of R

(i.e M – subring of R), when $A_t \neq \emptyset$.

Where $A_t = \{x \in R : A(x) \geq t\}$

Definition 2.3: Let A be M – fuzzy ideal of R , is a M – fuzzy subring of R such that

(iii) $A(y + x - y) \geq A(x)$

(iv) $A(x y) \geq A(y)$

(v) $A((x + z)y - x y) \geq A(z)$

For all $x, y, z \in R$

Note that A is a M – fuzzy left ideal of R if it satisfies (i), (ii), (iii) and (iv), and A is said to be a M – fuzzy right ideal of R , if it satisfies (i), (ii), (iii) and (v).

Definition 2.4: Let R be a ring, a fuzzy set A of R is called anti fuzzy subring of R , if for all $x, y, \in R$

(AF₁) $A(x - y) \leq \max \{A(x), A(y)\}$

(AF₂) $A(x y) \leq \max \{A(x), A(y)\}$

Definition 2.5: Let R be a ring, a fuzzy ring A of R is called an anti-fuzzy subring with operator (read as anti

M - fuzzy subring) iff for any $t \in [0,1]$, A_t is an anti-ring with operator of R (i.e.anti M -fuzzy subring of R),

when $A_t \neq \emptyset$.

Where $A_t = \{x \in R : A(x) \leq t\}$

Definition 2.6: Let A be M -fuzzy anti ideal of R , if A is a anti M -fuzzy subring of R such that the following conditions are satisfied

(AF₃) $A(y + x - y) \leq A(x)$

(AF₄) $A(x y) \leq A(y)$

(AF₅) $A((x + z)y - x y) \leq A(z)$

For all $x, y, z \in R$.

Note that A is an anti M -fuzzy left ideal of R if it satisfies (AF₁), (AF₂), (AF₃) and (AF₄), and A is called an anti M -fuzzy right ideal of R if it satisfies (AF₁), (AF₂), (AF₃) and (AF₅).

Example: Let $R = \{ a_1, a_2, a_3, a_4 \}$, be a set with two binary operations as follows

¹Asso.Prof. & Head, Dept. of Mathematics, College of Commerce, Arts & Science, Patna-20.

² Research Scholar, Dept. of Mathematics, M. U. Bodh Gaya

+	a_1	a_2	a_3	a_4
a_1	a_1	a_2	a_3	a_4
a_2	a_2	a_1	a_4	a_3
a_3	a_3	a_4	a_2	a_1
a_4	a_4	a_3	a_1	a_2

x	a_1	a_2	a_3	a_4
a_1	a_1	a_1	a_1	a_1
a_2	a_1	a_1	a_1	a_1
a_3	a_1	a_1	a_1	a_1
a_4	a_1	a_1	a_2	a_2

Then $(R, +, \cdot)$ is a ring. We define a fuzzy subset $A : R \rightarrow [0,1]$,
by $A(a_3) = A(a_4) > A(a_2) > A(a_1)$.

Then A is an anti M-fuzzy right (left) ideal of ring R . Every anti M-fuzzy right (left) ideal of ring R is an anti M-fuzzy subring of R , but converse is not true as shown in the following example.

Example: Let $R = \{ a_1, a_2, a_3, a_4 \}$, be a set with two binary operations as follows

+	a_1	a_2	a_3	a_4
a_1	a_1	a_2	a_3	a_4
a_2	a_2	a_1	a_4	a_3
a_3	a_3	a_4	a_2	a_1
a_4	a_4	a_3	a_1	a_2

x	a_1	a_2	a_3	a_4
a_1	a_1	a_1	a_1	a_1
a_2	a_1	a_2	a_3	a_4
a_3	a_1	a_1	a_1	a_1
a_4	a_1	a_1	a_1	a_1

Then $(R, +, \cdot)$ is a ring. We define a fuzzy subset $A : R \rightarrow [0,1]$,
by $A(a_3) = A(a_4) > A(a_2) > A(a_1)$. Then A is anti M-fuzzy subring of R . But A is not an anti M-fuzzy right ideal of R , since

$$A((a_1 + a_2)a_3 - a_1a_3) = A(a_3) > A(a_2)$$

Theorem 2.1: Let R be a M-ring and a fuzzy set A on R is anti M-fuzzy ring in R if and only if A^c is a M-fuzzy ring in R .

Proof : First we suppose that A is an anti M-fuzzy subring in R . Then we have to show that A^c is an M-fuzzy subring in R .

Let $x, y \in R$, we have

$$\begin{aligned} A^c(x - y) &= 1 - A(x - y) \\ A^c(x - y) &\geq 1 - \max\{A(x), A(y)\} \\ &= \min\{1 - A(x), 1 - A(y)\} \\ &= \min\{A^c(x), A^c(y)\} \end{aligned}$$

Also,

$$\begin{aligned} A^c(xy) &= 1 - A(xy) \\ A^c(xy) &\geq 1 - \max\{A(x), A(y)\} \\ &= \min\{1 - A(x), 1 - A(y)\} \\ &= \min\{A^c(x), A^c(y)\} \end{aligned}$$

Therefore, A^c is a M-fuzzy subring in R .

Conversely, suppose that A^c is an anti M-fuzzy subring in R , then we have to show that A is a M-fuzzy subring in R . Let $x, y \in R$, we have

$$\begin{aligned} A(x - y) &= 1 - A^c(x - y) \\ A(x - y) &\geq 1 - \max\{A^c(x), A^c(y)\} \\ &= \min\{1 - A^c(x), 1 - A^c(y)\} \\ &= \min\{A(x), A(y)\} \end{aligned}$$

Also,

$$\begin{aligned} A(xy) &= 1 - A^c(xy) \\ A(xy) &\geq 1 - \max\{A^c(x), A^c(y)\} \end{aligned}$$

$$= \min \{1 - A^c(x), 1 - A^c(y)\}$$

$$= \min \{A(x), A(y)\}$$

Thus A is M-fuzzy subring in R.

Theorem 2.2: Let R be a M- ring and A be a M-fuzzy subring in R. Then A is an anti M-fuzzy ideal in R if and only if A^c is a M-fuzzy ideal in R.

Proof : First we suppose that A is anti M-fuzzy ideal in R, then we have to show that A^c is a M-fuzzy ideal in R. Let $x, y \in R$, by definition of anti M-fuzzy ideal

$$A(x + y - x) \leq A(x) \text{ Since } A_t = \{x \in R : A(x) \leq t\}, \text{ where } t \in [0, 1]$$

$$\Rightarrow 1 - A(x + y - x) \geq 1 - A(x)$$

$$\Rightarrow A^c(x + y - x) \geq A^c(x)$$

Also, $A(xy) \leq A(y)$

$$\Rightarrow 1 - A(xy) \geq 1 - A(y)$$

$$\Rightarrow A^c(xy) \geq A^c(y)$$

And $A((x + z)y - xy) \leq A(z)$

$$\Rightarrow 1 - A((x + z)y - xy) \geq 1 - A(z)$$

$$\Rightarrow A^c((x + z)y - xy) \geq A^c(z)$$

Hence, A^c satisfies all the condition of M-fuzzy ideal.

Conversely, if we suppose that A^c is an M-fuzzy ideal in R, then we have to show that A is anti M-fuzzy ideal in R.

Let $x, y \in R$ and A^c is an M-fuzzy ideal in R, then by the definition of M-fuzzy ideal we have

$$A^c(x + y - x) \geq A^c(x) \because A_t = \{x \in R : A(x) \geq t\}, t \in [0, 1]$$

$$\Rightarrow A(x + y - x) \leq A(x)$$

Also, $A^c(xy) \geq A^c(y)$

$$\Rightarrow A(xy) \leq A(y)$$

And $A^c((x + z)y - xy) \geq A^c(z)$

$$\Rightarrow A((x + z)y - xy) \leq A(z)$$

Hence, A satisfies all the condition of anti M-fuzzy ideal in R.

Definition 2.7: Let R be a M-ring and a family $\{A_i : i \in I\}$ of M-fuzzy ideal of R, then the intersection $\bigcap_{i \in I} A_i$ of M-fuzzy ideal of R defined by

$$\left(\bigcap_{i \in I} A_i\right)(x) = \inf \{A_i(x) : i \in I\}, \text{ for all } x \in R$$

Theorem 2.3: Let R be a M-ring, $\{A_i : i \in I\}$ be a family of M-fuzzy ideal of R, then $\bigcap_{i \in I} A_i$ is an M-fuzzy ideal of R.

Proof: Let $\{A_i : i \in I\}$ be a family of M-fuzzy ideal of R, and $x, y \in R$ then we have

$$\left(\bigcap_{i \in I} A_i\right)(x - y) = \inf \{A_i(x - y) : i \in I\}, \text{ for all } x, y \in R$$

$$\geq \inf \{\min(A_i(x), A_i(y)), i \in I\}$$

$$= \min \{\inf(A_i(x) : i \in I) \inf(A_i(y) : i \in I)\}$$

$$= \min \left\{ \left(\bigcap_{i \in I} A_i \right) (x), \left(\bigcap_{i \in I} A_i \right) (y) \right\}$$

Also, $\left(\bigcap_{i \in I} A_i \right) (xy) = \inf \{ A_i (xy) : i \in I \}$

$$\geq \inf \{ \min (A_i (x), A_i (y)) : i \in I \}, \text{ for all } x, y \in R$$

$$= \min \{ \inf (A_i (x) : i \in I), \inf (A_i (y) : i \in I) \}$$

$$= \min \left\{ \left(\bigcap_{i \in I} A_i \right) (x), \left(\bigcap_{i \in I} A_i \right) (y) \right\}$$

Hence $\bigcap_{i \in I} A_i$ is a M-fuzzy ring of R.

For any $x, y, z \in R$ we have

$$\left(\bigcap_{i \in I} A_i \right) (y + x - y) = \inf \{ A_i (y + x - y) : i \in I \}$$

$$\geq \inf \{ A_i (x) : i \in I \}$$

$$= \left(\bigcap_{i \in I} A_i \right) (x)$$

Also, $\left(\bigcap_{i \in I} A_i \right) (xy) = \inf \{ A_i (xy) : i \in I \}$

$$\left(\bigcap_{i \in I} A_i \right) (xy) \geq \inf \{ A_i (y) : i \in I \}$$

$$= \left(\bigcap_{i \in I} A_i \right) (y)$$

And $\left(\bigcap_{i \in I} A_i \right) ((x + z)y - xy) = \inf \{ A_i ((x + z)y - xy) : i \in I \}$

$$\geq \inf \{ A_i (z) : i \in I \}$$

$$= \left(\bigcap_{i \in I} A_i \right) (z)$$

Hence $\bigcap_{i \in I} A_i$ is a M-fuzzy ideal of R.

Definition 2.8: Let R be a M-ring and $\{ A_i : i \in I \}$ be a family of anti M-fuzzy ideal of R, then the union $\bigcup_{i \in I} A_i$ of anti M-fuzzy ideal of R defined by

$$\left(\bigcup_{i \in I} A_i \right) (x) = \sup \{ A_i (x) : i \in I \}, \text{ for all } x \in R$$

Theorem 2.4: Let R be a M-ring, and $\{ A_i : i \in I \}$ be a family of anti M-fuzzy ideal of R, then $\bigcup_{i \in I} A_i$ is an anti M-fuzzy ideal of R.

Proof : Let $\{ A_i : i \in I \}$ be a family of anti M-fuzzy ideal of R, and $x, y \in R$, then we have

$$\left(\bigcup_{i \in I} A_i \right) (x - y) = \sup \{ A_i (x - y) : i \in I \}$$

$$\leq \sup \{ \max (A_i (x), A_i (y)) : i \in I \}$$

$$= \max \{ \sup (A_i (x) : i \in I), \sup (A_i (y) : i \in I) \}$$

$$= \max \left\{ \left(\bigcup_{i \in I} A_i \right) (x), \left(\bigcup_{i \in I} A_i \right) (y) \right\}$$

Also $\left(\bigcup_{i \in I} A_i \right) (xy) = \sup \{ A_i (xy) : i \in I \}$

$$\begin{aligned} &\leq \sup \{ \max (A_i (x), A_i (y)) : i \in I \} \\ &= \max \{ \sup (A_i (x) : i \in I), \sup (A_i (y) : i \in I) \} \\ &= \max \left\{ \left(\bigcup_{i \in I} A_i \right) (x), \left(\bigcup_{i \in I} A_i \right) (y) \right\}, \text{ for all } x, y \in R \end{aligned}$$

Hence, $\bigcup_{i \in I} A_i$ is a anti M-fuzzy ring of R.

For any $x, y, z \in R$, we have

$$\begin{aligned} \left(\bigcup_{i \in I} A_i \right) (y + x - y) &= \sup \{ A_i (y + x - y) : i \in I \} \\ &\leq \sup \{ A_i (x) : i \in I \} \\ &= \left(\bigcup_{i \in I} A_i \right) (x) \end{aligned}$$

$$\begin{aligned} \text{And } \left(\bigcup_{i \in I} A_i \right) (xy) &= \sup \{ A_i (xy) : i \in I \} \\ &\leq \sup \{ A_i (y) : i \in I \} \\ &= \left(\bigcup_{i \in I} A_i \right) (y) \end{aligned}$$

$$\begin{aligned} \text{Similarly, } \left(\bigcup_{i \in I} A_i \right) ((x + z) y - xy) &= \sup \{ A_i ((x + z) y - xy) : i \in I \} \\ &\leq \sup \{ A_i (z) : i \in I \} \\ &= \left(\bigcup_{i \in I} A_i \right) (z) \end{aligned}$$

Therefore, $\bigcup_{i \in I} A_i$ is an anti M-fuzzy ideal of R

Definition 2.9: Let R and S be two M-ring and f is a function from R onto S

(i) If B is a M-fuzzy ring in S, then the pre-image of B under f is a M-fuzzy ring in R, defined by

$$f^{-1} (B) (x) = B (f (x)), \text{ for each } x \in R$$

(ii) If A is a M-fuzzy ring of R, then the image of A under f is a M-fuzzy ring in S defined by

$$f (A) (y) = \begin{cases} \sup_{x \in f^{-1}(y)} A (x), & \text{if } f^{-1} (y) \neq \phi \\ = 0, & \text{otherwise} \end{cases}$$

For each $y \in S$

Theorem 2.5: Let R and S be M-ring and $f : R \rightarrow S$, be an M-homomorphism from R onto S and

(i) If B is an M-fuzzy ring of S, then $f^{-1} (B)$ is an M-fuzzy ring of R.

(ii) If A is an M-fuzzy ring of R, then $f (A)$ is an M-fuzzy ring of S.

Proof: (i) Let $x_1, x_2 \in R$, then we have

$$\begin{aligned} f^{-1} (B) (x_1 - x_2) &= B (f (x_1) - f (x_2)) \\ &\geq \min \{ B (f (x_1)), B (f (x_2)) \} \\ &= \min \{ f^{-1} (B) (x_1), f^{-1} (B) (x_2) \} \end{aligned}$$

$$\begin{aligned} \text{And } f^{-1} (B) (x_1 . x_2) &= B (f (x_1) . f (x_2)) \\ &\geq \min \{ B (f (x_1)), B (f (x_2)) \} \\ &= \min \{ f^{-1} (B) (x_1), f^{-1} (B) (x_2) \} \end{aligned}$$

Hence, $f^{-1}(B)$ is a M-fuzzy ring of R.

(ii) Let $y_1, y_2 \in S$ then we have

$$\{x : x \in f^{-1}(y_1 - y_2)\} \supseteq \{x_1 - x_2 : x_1 \in f^{-1}(y_1), x_2 \in f^{-1}(y_2)\}$$

$$\begin{aligned} \text{Hence } f(A)(y_1 - y_2) &= \sup \{A(x) : x \in f^{-1}(y_1 - y_2)\} \\ &\geq \sup \{A(x_1 - x_2) : x_1 \in f^{-1}(y_1), x_2 \in f^{-1}(y_2)\} \\ &\geq \sup \{\min(A(x_1), A(x_2)) : x_1 \in f^{-1}(y_1), x_2 \in f^{-1}(y_2)\} \\ &= \min \{\sup(A(x_1)) : x_1 \in f^{-1}(y_1), \sup(A(x_2)) : x_2 \in f^{-1}(y_2)\} \\ &= \min \{f(A)(y_1), f(A)(y_2)\} \end{aligned}$$

$$\text{Since } \{x : x \in f^{-1}(y_1 \cdot y_2)\} \supseteq \{x_1 \cdot x_2 : x_1 \in f^{-1}(y_1), x_2 \in f^{-1}(y_2)\}$$

$$\begin{aligned} f(A(y_1 \cdot y_2)) &= \sup \{A(x) : x \in f^{-1}(y_1 \cdot y_2)\} \\ &\geq \sup \{A(x_1 \cdot x_2) : x_1 \in f^{-1}(y_1), x_2 \in f^{-1}(y_2)\} \\ &\geq \sup \{\min(A(x_1), A(x_2)) : x_1 \in f^{-1}(y_1), x_2 \in f^{-1}(y_2)\} \\ &= \min \{\sup(A(x_1)) : x_1 \in f^{-1}(y_1), \sup(A(x_2)) : x_2 \in f^{-1}(y_2)\} \\ &= \min \{f(A(y_1)), f(A(y_2))\} \end{aligned}$$

Hence $f(A)$ is a M-fuzzy ring of S

Theorem 2.6 : Let R and S be M-ring and $f : R \rightarrow S$ be an M-homomorphism from R onto S and

- I. If B is an M-fuzzy ideal of S, then $f^{-1}(B)$ is an M-fuzzy ideal of R
- II. If A is an M-fuzzy ideal of R, then $f(A)$ is an M-fuzzy ideal of S

Proof: (i) Let B be an M-fuzzy ideal of S, then $f^{-1}(B)$ is an M-fuzzy ring of R from theorem 2.5(i)

Let $x_1, x_2, x_3 \in R$ we have

$$\begin{aligned} f^{-1}(B)(x_1 + x_2 - x_1) &= B(f(x_1) + f(x_2) - f(x_1)) \\ &\geq B(f(x_2)) \\ &= f^{-1}(B)(x_2) \end{aligned}$$

$$\begin{aligned} \text{Also, } f^{-1}(B(x_1 \cdot x_2)) &= B(f(x_1 \cdot x_2)) \\ &\geq B(f(x_2)) \\ &= f^{-1}(B)(x_2) \end{aligned}$$

$$\begin{aligned} \text{And } f^{-1}(B)((x_1 + x_2)x_3 - x_1x_3) &= B((f(x_1) + f(x_2))f(x_3) - f(x_1)f(x_3)) \\ &\geq B(f(x_2)) \\ &= f^{-1}(B)(x_2) \end{aligned}$$

Hence, $f^{-1}(B)$ is an M-fuzzy ideal of R.

(II) Let A be an M-fuzzy ideal of R, then $f(A)$ is an M-fuzzy ring of S from theorem 2.5(ii). Now for any

$y_1, y_2, y_3 \in S$ we have

$$\begin{aligned}
 f(A)(y_1 + y_2 - y_1) &= \sup \{A(x) : x \in f^{-1}(y_1 + y_2 - y_1)\} \\
 &\geq \sup \{A(x_1 + x_2 - x_1) : x_1 \in f^{-1}(y_1), x_2 \in f^{-1}(y_2)\} \\
 &\geq \sup \{A(x_2) : x_2 \in f^{-1}(y_2)\} \\
 &= f(A)(y_2)
 \end{aligned}$$

Also $f(A)(y_1 \cdot y_2) = \sup \{A(x) : x \in f^{-1}(y_1 \cdot y_2)\}$

$$\begin{aligned}
 &\geq \sup \{A(x_1 \cdot x_2) : x_1 \in f^{-1}(y_1), x_2 \in f^{-1}(y_2)\} \\
 &\geq \sup \{A(x_2) : x_2 \in f^{-1}(y_2)\} \\
 &= f(A)(y_2)
 \end{aligned}$$

And $f(A)((y_1 + y_2)y_3 - y_1y_3) = \sup \{A(x) : x \in f^{-1}((y_1 + y_2)y_3 - y_1y_3)\}$

$$\begin{aligned}
 f(A)((y_1 + y_2)y_3 - y_1y_3) &\geq \sup \{A((x_1 + x_2)x_3 - x_1x_3) : x_1 \in f^{-1}(y_1), x_2 \in f^{-1}(y_2), x_3 \in f^{-1}(y_3)\} \\
 &\geq \sup \{A(x_2) : x_2 \in f^{-1}(y_2)\} \\
 &= f(A)(y_2)
 \end{aligned}$$

Hence $f(A)$ is an M-fuzzy ideal of S.

References

- [1]. W.J.Liu, Fuzzy invariant subgroups and fuzzy ideals, *Fuzzy sets and systems* 8 (1982), 133-139.
- [2]. Y.C.Ren, Fuzzy ideals and quotient rings, *Fuzzy Math* 4 (1985), 19 – 26.
- [3]. T.K.Mukharjee and M.K.Sen, on fuzzy ideals of ring I, *Fuzzy sets and systems* 21 (1987), 99 – 104.
- [4]. W.X.Gu, S.Y.Li and D.G.Chen, Fuzzy groups with operators, *Fuzzy sets and systems* 66 (1994), 363 – 371.
- [5]. Q.Y.Xiong, *Modern algebra*, (Science and technology Publication, Shanghai,1978)